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1. Résoudre    124542 ≤+−x  

8542 ≤−x  

454 ≤−x  

 
4x – 5 = 4  4x – 5 = -4 
4x = 9   4x = 1 
x = 9/4 = 2,25             x = ¼ = 0,25 
 
 

 
 
 
 
 

2. Résoudre   115232 ≤−+x  
 

16232 ≤+x  

823 ≤+x  
3x + 2 ≤64 
3x ≤62 
x  ≤ 62/3 
 
 
 

 
 
 
 
 

3. Résoudre    82
12

5 ≤+
−x

 

6
12

5 ≤
−x

 

 
5 ≤ 6(2x-1) 
5 ≤ 12x – 6 
11 ≤ 12x 
x ≥ 11/12 
 

 
 
 

 
 

Posons x=0 

1245)0(42 ≤+−  

1214≤   FAUX 
 
Réponse : x e [0,25; 2,25] 

 

Restriction 

023 ≥+x  
x ≥ -2/3 
 
Réponse :  x e [-2/3, 62/3] 

 

Restriction 
2x – 1 ≠ 0 
x ≠ ½ 
 
Posons x=0 

82
1)0(2

5 ≤+
−  

-5 + 2 ≤ 8   VRAI 
 
Réponse :  x e ]-∞, ½[ U [11/12, +∞[ 
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x = 0 


